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TNSET 2024
Module Name : General Paper
Exam Date : 08-Mar-2025 Batch : 09:00-12:00
Sr. No. General Paper
PAPER I

Match List - | with List = Il with respect to methods of feaching :

List - 1 List - 1l
(i)  Analytic method (a) Dewey’s philosophy of
pragmatism
(i)  Synthetic method (b)  From complex to simple
(i) Laboratory method (c) Known to unknown
(iv] Project method (d) Learning by observation

Choose the correct answer :

SMHLINSHSH6V (LPEOME:(ETHESHTEST LILIg U6V I-g0 LI 1gui6v 11 - 2 L 68T Glum(h& &6 L.

uLliguiev | uliguisv Il

(1) UEGUUTWEY (Penm (i) 1eGouullesr LwesTETEn6IS
SSSHI6LILD.

(2) @emewTiUTES (Penm (i) &FloseumerTel 0 (HH)

_ srsrﬂg?rrsﬁrg,{j)@
(3) SpWels (penm (i) SMHSSOBHS)
- ABVUTESDE _

(4) OEFWESILL (pemwm (iv)] 2-mmi Crmsssey epsuld

&MHM6V

giflwmet uSlensud CaIH0SHH&&e L.

Az (D)-(b), (iD)-(0), (iii)-(d), (iv)-(a)
1-(i1), 2-(iii), 3-(iv), 4-(1)
B (D)-(a), (i)-(b), (ii)~(c), (iv)-(d)
1-(1), 2-(ii), 3-(iii), 4-(iv)
C: (D), (iD)-(c), (iiD)~(b), (iv)-(a)
1-(iv), 2-(iii), 3-(ii), 4-(1)
D: (i)-(c), (i)-(a), (iii)-(b), (iv)-(d)
1-(iii), 2-(i), 3-(ii), 4-(iv)
2 Identify the three broad strategies that we may consider while teaching generic groups of gifted and talented children.

@M GO L Hmer Gbum® / WSS meor nmesoral§ &wWellh@ &ML @& WnELITE CMHE & MeTaT Geleroriq L eL 6T
afifleurmest &MHLNSH60 ST E (LD 6 (D& 6ITTE 60T

A: Motivation, Presentation and Feedback
o615 G 6l & H 60, allemd: @G S560 LnMmmID LeTenrl L b Gl MmIg60
B : Acceleration, Extension and Feedback
CausLliL@ SIS, alfleumsssin QF IS InMHMID LeTenrl LD GlLIMIS6
C: Acceleration, Extension and Enrichment
CauslILGSSIH, alifleurssid QF IS IMHMID CMHFNMLIL] &Temi &5 60
D : Motivation, Extension and Enrichment
215G el G560, allfleung s QF IS InMMID CLMEPMLIL] &ITeDI %560
3 In teaching, the teacher teaches a topic and moves up forward further to other topics.

&HL556960, 2R AWT @ HemeulienLs &HLISS LN6T GLOETELEID MM HeMEVLILI&ERHGE QFaTml(HIeU.

A: Horizontal

FemL oL L
B: Vertical

QFRIGSHSI
C: Direct

GBI (L&D et

D : Indirect
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LD6®) M (LD 85 LD 60T
4 If a person is able to display his/her emotions in an appropriate degree with reasonable control, it is termed as
(@ BT H60T 2_euorFeldseneT &Fiflwimer erailey oMM 2 eorf&R &L HIUUmCLm(h Qmefﬂuu@gsgs B1&LDHS TV Sl
A Emotional maturity
2 OTIEF eUeTIEF
B: Emotional expression
2 _eorf&H QauerflliLm@
C: Intellectual maturity
SMeuTIHS eueTi&s)
D: Emotional management
2_TFF G GLOGVTEUOTEMLD
5 According to "Universal Declaration of Human Rights", everyone has the right to life, liberty and security of person is given in
Qumal esflg 2 flenin 2unflsemnauleT 6ihs G eaIQaIMBaIHEHGLD QIMDHES. &HSHSH LD DMMID LMSISTLIL 2 flenln
2 _GT6MEI 66018 FoMIGBMSI?
A Article 1
IS 1
B: Article 15
aqU58l 15
C: Article3
a4I58! 3
D: Article 13
Q755! 13
6 Given below are two Statements, related to post-positivism.

Statement — I : Post-Positivism has an affinity with the phenomenological, interpretive approaches to research.
Statement — II : It argue for the centrality of the Subjective and multiple interpretations of the phenomenon made by the researcher.
Choose the most appropriate answer from the options given below :

@) 60TE S Blemevs & Lbeng W (wemm GMls S ECLp @) T6tor(h) 6UTe: S WIMBIGET &TLILIL (B 6TemeoT.

QMGG I: @ DWemM &(HSSI[HEUTEHSD IDMHMILD &e0ollHSIF QEFTV6VE Fnlqll L TTUIFH DEFBIG6T GHUILDTS
2 aTeTL&HH WS

QTSGR WD IT: LML LIQUIT@HET MM LIVGHTE G &eooflLIL&emer enloWIL(GSH ST6HR 658 Fnllll &(H5 S (Hel
QITUFRWTeTT G MHE S TETET @D (LNenm JHIaTRaTMSI.

etraumedestralmnledpia L&ea b QUTBHSE dalqll ellanLemnws Qsfle Qauliss.

A': Both Statements (I) and (II) are correct.
QUMEHEWIMIGET I -1D, 11-1D FiflGul.
B: Both Statements (I) and (II) are incorrect.
QUM G WIMIGET 1 -1D, 1I-10 Fifluletrml.
C: Statement (I) is correct but Statement (II) is incorrect.
I-1b eumSS WD FlumeTas! &u,607mev -0 eums & with &iflwiesrm
D: Statement (I) is incorrect but Statement (II) is correct.

1D QUTEGH WD FWeTmI, 9L60TMev 1I-1D 6UTS G WD FifluimesTS).
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7 Criteria of a good hypothesis are given below
(a) It should provide tentative solution to the proposed problem.
(b) It should be inconsequential.
(c) It should be stated in advance of collecting evidence.
Choose the correct option of the right criteria :
62 (b [56V6V &(HSIBE Mar16T 2166 CaHMELEET BELD Q& MTH & & LILIL (B 6TeTeoT.
(a) @& WweaTmMAWLLLL LNTFRamears:E b SMHa TS LIS 6V 6Lk g Ge6uT(h LD
(b) @8 QUTHSSDOMSTH @SS Geusvor(hiLd
(¢) @8 QSMTIMIGM6T CF&FILILFMNG WeTerT GMILILILLILL Ceausr(kLbd
Frflwmer eNBLILG Caiellener C5Tey Q& Iwe]LD.

A (a)and (b) only
aloMMILD b LB
B: (b)and (c) only
b LOMHMID ¢ L HILD
C: (a)and (c) only
a lDMmMILD ¢ L (HID
D: (a), (b) and (c)
a, b LOMMILD ¢ LOL (I
8 Thematic Appreception Test (TAT) consists of a series of pictures, dealing with
'&H(HSH S 2_(HEUTEE60 CFTHm6T (TAT) Ll6dTal(BLD &H(HSHMDBHS LIL MG 6 e auflen &g ener 2 6TemL &G WSl

A: Thistoric events
eVt L9 edreorevnf 86T
B: day-to-day events
S@TMITL Bl&HLDE ST
C: military events
@ IMTEIa 5L 618608 LI LI 6dT60r6001) 8 61T
D: sports events
allemerwiml_(BILI L9 ebrevreuoll & 6T

9 Which among the following is not the criteria of a good hypothesis ?
LY etTeuBeueTmnlev 618! 62(IH HEV6V & (H S C& Terfledr 3166 &MV {60607

A: Tentative solution to the proposed problem
weraumAwliLl L VNyFFamersasmear SMameds Siey
B: Not trivial or inconsequential
WEHERAWIDMHMS! {606V VG QSTIFFRWMDHMSI
C: Operational
QEFWE LM
D: Method for recording and measuring
uBley O SeTafl G wenm

10 Developing a good is the beginning of the formal process of Research.
(I H6V6V 20 2 (HEUTH GG (LEMMWITET b TTLFRUNET QS TLHHIMGLD.

A: Research Report
S ITUFER 9 flHens
B: Research tool
QUTTLFR s@@mai
C: Research proposal
L IMUEFR Wer Qomifley
D: Research hypothesis
TTUFR & SICsTeT
11
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Match the following :

(i) Lexicon (a)  Building blocks of the
language

(i)  Grammar (b) Connected to word order

(i) Semantics (c] Meanings users assign to
words

(iv)] Phonology (d) Spoken system of a
language

Choose the correct answer from the options given below :

ClumpsHHIS.

(1) <syrH - (i) gmn@g}sﬁ&;{_@wrrmg
STGSEaT

(2) @evdsemibd- (i) ©lemeb suflensguL e
@ enemTa s LU (HeTsmE)

(3) GEmmelummpewsy (i) SHTHSHISET LT a6t
ClFTD&EEHEE

. @g,j&‘@é]‘r_r)my&‘,srr. .

(4) @edluwsy (iv) @ wmfluier Guds

LD6BITL6VLD

giflwmest eflemLenwis; Cse Glauiwawb. 2

A (D)-(a), (iD)-(b), (iiD)~(c), (iv)-(d)
1-(i), 2-(ii), 3-(iii), 4-(iv)
B: (D)-(a), (ih-(c), (iiD)-(b), (iv)-(d)
1-(1), 2-(iii), 3-(ii), 4-(iv)
C: (D-(b), (i)-(c), (iiD)-(d), (iv)-(a)
1-(ii), 2-(iii), 3-(iv), 4-(1)
D (i)-(b), (ii)-(d), (iii)-(c), (iv)-(a)
1-(i1), 2-(iv), 3-(iii), 4-(i)
12 The power relationships and dominance is inferred as :
AUHEE FHG) DMHMID AFGTT 2_ M6 56T 6T560T eLN6EVLD 261G & & LILI(H & 6dTm 6oT?

A': Polysemic

16V QIUITIHET Q& TevoTL. QI F MM 86T

B: Ideology
FS5MHSLD
C: Hegemony
GLeTH &0
D: Culture
SHETFF ML
13 The potential impact of globalization of mass communication process speaks to the issue of
I0&&6T QASTLIL Q&FWLNemnmUIET 2 608 LDUILNITE &60160T &M& S UILDITEOT &I &L ettt elleqUISms GMI&ERMS.

A: Unity in Diversity
Geummiemnnuflicy e mienin
B: Unity of Expression
HBSS RGN0
C: Diversity of Expression
QeuerfILILIML 19 68T LIGOT(LD & & & 60TemL0
D: Diversity of Interest
276G D) 60T LIGHT (LD & &G 6016010
14 Which is the "twin" of communication ?
F5&HaI QSTLILIN6T "@ Il el wy" eTgl?

A: Journalism
@slule

B: Media
oerL_&HLD

C: Dissemination

LIyeuev
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D: Information

FH&H6U6V

15 Signature tunes primarily function to :
e wWmer @emn&uledr (NG ETEnD Q& WEVLIT(H) 6T60T60r?

A Signify the start of a program or Station
BHLDEFS 9L TIDLILD {606V S Ble0)6VILIS T 66T {6m L IWMaT LG SSRMS!
B : Play throughout the duration of a program
Bl&LER WealSih e6d&s
C: Express the personality of the audience
GrBWwisserler &eoflgseTemnenil QeueflLH &S
D: Promote commercial products within the program
BlapERA U6 auenlle: QUTEHL &em6T elleTUTLILGSS

16 A sells scooter priced at 45,000. He gives a discount of 6% on the first 20,000 and 5% on the next 20,000. How much discount can he afford on the remaining
5000 if he is to get as much as when 6% discount is allowed on the total ?

A eTETLIOUT 62(1H 6NV &m L LIJ e LML 45,000-M& DS M. (PG6V emLIMUI 20,000-M& 6% LOMHMID HBSS eHLITII 20,000-DE 5%
FHETEBLILG ST GERMTY. QLTSS EH 6V 6% HeTEBHLI. G &6 ILGWMELMS! LSS W6TET eBLITUL 5,000-ME& 6l 6T6U6I6TE)]
F56I5D SeTEBLILG. Q&I Causuor(h?

A: 8%
8%
B: 10%
10%
C: 12%
12%
D: 15%
15%

17
(36.54)% —(3.46)2

X

= 40, then the value of xis :

(3.50% (348

= 40 erevflev, x 65T WHLILY
X

A: 33.08
33.08
B: 330.8
330.8
C: 3.308
3.308
D: 338
33.8

18 A trader mixes three varieties of groundnuts costing Rs. 50, Rs. 20 and Rs. 30 per kg in the ratio 2 : 4 : 3 in terms of weight and sells the mixture at Rs. 33 per
kg. What percentage of profit does he make ?
e aflwmuri] @GeumailM@& em.50, eh.20 LnMHMILD €h.30 696016V8 @ BleV& &L eMEVEnL GUTBIG) 2:4:3 6TedIm GG eTemL_uilev
HVHG 3HS Hevemalemll BGeumallm @ em.33 eTedtm allemevuiley lMHEMITT eTevfleL U FL (LD G eVTLISH 60T &S5l & &L

6T60T60T?
A: 8%
8%
B: 9%
9%
C: 10%
10%
D: 12%
12%
19 A Train travels at an average of 50 miles per hour for 2 2 hours and then travels at a speed of 60 miles per hour of 1 2 hours. How far did the train travel in the

entire 4 hours.
62 (b QBTLIAIEOTL] L0601 8E 50 M6 Bk SH60 21 netoll GHIWLD, LN6Ter n6toflé @ 60 a6y GaudsgH e 1% Lneoof]
GBIIOLD Liwem &R MG 6Tevfl6v QDTS SN 4 Inevol] CHISH 6V HEQHTLTEUETITL] 6TElAI6TE| STTSHMS &L &G LD?
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20

21

22

A 200 miles

200 6DLDEV S 6T
B: 215 miles

215 6MLOGLE6IT
C: 220 miles

220 6MLOGVG6IT
D: 250 miles

250 6D)LD6V 6T

If 2 = B = then the value of is:
b+c ct+a a+b b+c
a b G

% (6] i u
= = eresfley —— -@\eoT WO
b+c c+a a+b b+c @ 51 H

A: 1
3

1

%

B: l

J

1

2
C: g
3

2

3
D: 9
5

3

e
Statement :

The librarian finds some cases in which the pages from certain books issued from the library are torn

Course of action :

1: The librarian should keep a record of books issued to each student and if the pages are found torn strict measure should be taken against the child who had
been issued that book.

1I : Some funds to be collected from the children collectively to renovate the library.

Famm: Flev Flownkisefle Breuss5H el mha eNBlICWMTRGHELILL L Breuserfley Flev Lisem 6T RN HH B LILIMNS BIeVsT
SITEOT R MITIT.

BLAIN G I: BTELST 6261UQ 6T LOMetorelsnls & allBIGUMTR&E&LILBID LSS & MISH6T LIGHGCaIL 1960 LS G, Li&&HBIGH6T
AL B (L1 6T DLOMEUTEUEDISH G 6T TS G6U0TIq LIL] [FL6UIE60& eT(H &8 Gauetor(h L.

11 6TELEVIT LOTETOTEUFS O (LD Fnl LTS QBT S UG5S Brevssemns LSILILN&68 Galeor(hLb.

A: TandII true
BLEUG &M | LnHmID 11 @) Fevor(H G &iflulmeorgt.
B: Tisonly true
I L GCW Frflumersl
C: Ilis only true
II G Cw Fflwmers
D: neither I nor II is true
I oD I GreoorG G Fiflwevev.

Find the option similar to that in given words :
UMPIRE : GAME

Q&EMHSHSHLLLL aUMTTSHNSHEHEHES R5S 6UTTEH S H6T &IT600T.
BH6uT : ellemerwiml®
A: Chef: Banquet

FeoLoWe) BILET : NGBS
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B: Legislator : Election
FLLLWO6TM 2 ML N6 : GHTH6V
C: Moderator : Debate

WS LT Lmerd : efleumssib
D: Prodigy : Wonder
SHFWLD : g FFflud

23 (i) A, B, C, D, E, F and G are sitting around a cycle and are facing the centre
(ii) G is second to the left of C, who is immediate left of F
(iii) A is third to the left of E
(iv) B is between D and E
Which of the following is true ?
(i) UL LEH 6 oW ILGH e LUMTSSamm A, B, C, D, E, F L0MMILD G LA WITH6T el L Seng &Ml ST HSI6TeT T8 6.
(il) C&®& @LSILMLOTES G @I Teugl @)L SH 6V ST HSIETETT, 36Ul F-86@& 2 L amiquns @)L SILMEH 6V FHSI6TeTTH
(iii) E-uil6tr @)L &I UmSHEV A e DTaIS @)L SS60 D FHSI6TeT T
(iv) D LDMMILD E-8& @ 6emL_CU B 3|0 HSIGTETITIT.
LN edreueleraumnlev 61&l Fiflwimers)?

A Cis fourth to the left of B
CeTeiTUT B & QL SILIMSH ) BTeiTH MU G L SHH6) SDTHSIETETT.

B: Adis to the immediate right of G
AeTeTLa] G-6@& QBILIDSH6 SO SSSME SIDFHSIETETTT.
C: Dis second to the left of E

D ereiTUIeU E-86@ @)L SILIMS 6L @\ TevorLmeugl @ LSS0 SFHSI6Ter T
D: Bissecond to the right of G
B eTeTLIOUT G-&(& aU6LSILIMEH 6V @) T60oTLMaUG @)L &5 60 0T HSIGTeTTI.
24
In the following figure friangle represents the college professors, square represents the

married persons and the circle represents the person living in joint families.

m

Bll@

A

Which letter represent college professors who are neither married nor do live in joint
Families ¢

NedTeu(HLd LILGHI6L 2 6iTem (&G memTd sHeverifll GurmdliflufseneTyd
FHITD S (HLOETTOTETTEUTSHEMETID 6ULLD ol GHlbLuSSH 6L eumuoLd

BLITSHEM6ITLLD (&M SEME].

F
E
BlC
D
A

@&ev  61He mblen TWHEH SH(HLEWTLISTS V6VG Fal (b
BHbusSE 6L sudlsars sevaurfl CurTlugssners G &E M.

z

o]
a o = =
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B
B
A
A

25 P and Q are brothers. R and S are sisters. Son of P is brother of S. How is Q related to R ?
P,Q ACWMH FCHEMEIIEET, R, S apHRCWTT FG& TS 56T P—@)60T L0G 60T S-60T FGSHMTHITI 67601160 Q 6T6OTLIAUTT R-85(& 6T60T60r

2 MM MTF?
A: Father
Saum
B: Brother
FREHMEHTT
C: Uncle

Quiflwiium oevevg AmmLriLm
D: Grand father
SNSST

26 Which of the following is not a one-dimensional diagram ?
@eummI6T 618l @ Lflnmesor eNlemgaLILL D 2{6060?

A Simple bar diagram
ererflw L emL eflemgasLILIL b
B: Pie diagram
QL eflergasLiuL b
C: Sub-divided bar diagram
FanmILLenL eflengssLILLLD
D: Multiple bar diagram
Leuas Ll LU Ll emL efleméas LI LD

27 In a two dimensional diagram :
@ ® ULomenT aUemTLIL&H 60

A: Only height is considered
2 WJh LGGEW HBHSLILGHMS!.
B: Only width is considered
315D LKW HHSLILIGRMSI.
C: Height, width and thickness are considered
2_WIJLD, $J&6VlD IDMHMID H19.1060T HBSLILGSH S
D : Both height and width are considered
2 WD IMHMILD 3|S5V @TeoT(HCL HHSLILGSRMS.

28 In diagram, the length of the lines or bars is considered and the width of the bars is not taken in consideration.
QAMILILSH 6 GaML1q6r Herih 9eveugl LI emL_ulledr Herid &(H&HH 60 Q& MeTaT ILGSH M Lnmmith LiemL_ulleor
3BV H(HSFH L QG TeTeTLILIL 6160606V,

A: one-dimensional
6 LlomeoorLd
B: two-dimensional
@ @ ulnmesorin
C: multi-dimensional

16V LIIf1 LD T60oT i 85 6T

D: Circular
UL LD
29 The workers of a factory may be classified according to wages is an example for classification.
2 QSTHMHFTmeuUNL QS TIHeTETIS&HET 26TH WIS S 60T 1 LILIEnLUN6D auen & LILIH S SIS 60 QUEM & LILIML_19 63T 62(1H

2 _SHMJ600TLD 3L, LD.

A: Geographical
Q@ LLh&Fmy
B: Chronological

SMTEULDF T
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C: Quantitative

jemafledT eLH6ULD
D: Qualitative
L1600T L& ITIT

30 Data obtained by conducting a survey is known as :
S ieN6T eulWIme: QUMLILIL L &T6 6T eTeoTLILI(p)LD.

A Secondary data
@)\ JEOOTL_ITLD [B160Y6V &J6) & 6iT

B: Primary data
PS6L Blemev ST &eT

C: Both Secondary data and Primary data
(A) LOHDID (B) GUesor®Id

D: Neither Secondary data nor Primary data
(A) {606V (B) 3j606V

31| 'What is ITES ?
ITES 6T60TMIT6V 6T60T60T?

A: Information Technology Extended Service
Information Technology Extended Service
B: Information Technology Education Service
Information Technology Education Service
C: Information Technology Enabled Service
Information Technology Enabled Service
D: Information Technology Extended Systems
Information Technology Extended System

32 Which one of the following is a common e-learning standard/format allowed in Learning Management Systems ?
B LD 5 600T LaUMHNI6L 6T&I & MHMEL GLDEVITETITENLD D emLOLILN6) 2 6Tem QILIMSIAUTET e-&MHMEV &I BleM6V/aIIqaILD &L,@E&LD?

A: XML
XML
B: SCORM
SCORM
C: MIS
MIS
D: OBE
OBE
33
Match the following web browsers.
(i) Netfscape (@) Chrome
(ii) Infernet (b) Firefox
(iii) Google (c) Explorer
(iv) Mozilla (d) Navigator

SLpaameuoTL @ emsmril 2 sumellEema GlLIM(HSH5Is5.

(i) CpLenvGay (a) @Eym

[.[.i.} @S&TL.ITQ Bl (b) I_IL!_IIj:LJ .rre'Bgr .
(iii) EGST (c) sr&smu(Se.mrr.UU
(iv) Gwmrdevsor (d) CreSlGsLLy

A (D)(d), (iD)-(e), (iii)-(b), (iv)-(a)
(@ (d), (i) (¢), (iii) (b), (iv) (2)
B (D)-(d), (ii)-(c), (iiD)~(a), (iv)-(b)
(@ (d), (i) (e), (iii) (a), (iv) (b)
C: ()0, (i)-(d), (iii)-(b), (iv)-(a)
(@ (), (ii) (d), (iii) (b), (iv) (2)
D (i)-(a), (iD-(b), (ii)~(c), (iv)-(d)
(@) (a), (ii) (b), (iii) (), (iv) (d)

34 Central Institute of Educational Technology (CIET) is a constituent unit of
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WHHW Hevel QSTLHHIL LI BlmialerTind 60T 62(Ih JBIGLOMELD.

A University Grants Commission
LI& 0605508 0Mef Il &)
B: Ministry of Education, Government of India
&H6vall 9eMNFFSHLD, QBT W T8
C: State departments of Education
IOMBlev Hevalls FHenm
D: National Council of Educational Research and Training (NCERT)
CxAW &Hevall 9LrmUER Lmmib LWHE FenLl (NCERT)
35 To connect to the internet, the computer has to be connected to,
5560011 60f1 ) 60)600T LI &5 &1 L_60T ) 606007885, 61560 L_60T @) 6060078 &L 1LIL. Geuetor(HILD ?

A: Internet Access Provider
©)6600T LI 216001 &6V GULPTEBIG BT
B: Internet Service Provider
©)60600T UL BF6M6U 6ULDMIGBIT
C: Either Internet Access Provider or Internet Service Provider
9) 606007 LI 2600856V QULDMHIGHT 2|6V6VSI E)60)600T LI CF6mI6U 6ULPTHIG BT
D: None of the above
6T816)]|LD @)6L6m6V
36 Choose the correct pair pertaining to the nuclear energy reactors.
I|EW 2_MEVEET QGITLFLIM6T FIfIWIMeoT @) emetoremlsd CHTIHG S (h & aLD.

A: Germany-1945
Qgg7neofl — 1945

B: USA-1951
D&ER W AHQWSHST - 1951

C: Soviet Union-1984
GameuWilg wl,eoflwiedr — 1984

D: India-1992
@HHWIT - 1992
37 Which drug is responsible for decline in Vulture population in India ?

@BHWTaN6) & (W& 5 6r6ir 6TetoTennl186m & GMMEUSMNE 6THGS LOBHS! & TIFeoTLOMEGLD?

A: Diclofenac

L& GerLNeormas

B: Prednisone

LN 1fl1q eofl @& medT
C: Ibuprofen
@uueier
D: Asprin
6L flesr
38 As per the UN Sustainable Development Goals Report which type of discrimination is one of the most common in worldwide ?

BEHRW BTHI&6T FenLILI6T BlemeuWTeT 6UeTFEFF @6V @& pieuN&Hem&LILIL 6THS 6U6m & W MeT LITGUTH 2608 6meilen
L& 6 LD GILIMSIEUTEOT 663TMITEGLD?
A: Disability
Q@ uWevmemLD
B: Religion
LOSLD
C: Age
awsl
D: Racial
@)\60TLD
39 UNEP Stands for :
UNEP eTedT LIS 60T el ifleumg&1n
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A : United Nations Conference on Environmental Pollution

United Nations Conference on Environmental Pollution
B: United Nations Environmental Problems

United Nations Environmental Problems
C: United Nations Environment Programme

United Nations Environment Programme
D: United Nations Environmental Pollutants

United Nations Environmental Pollutants

40 Which of the following is not a Persistent organic pollutants (POPs) ?
LY etraumedetaumniley eTemal Blemeumest &Il LDT&HUBSEH 21606072

A: Polychlorinated biphenyls
Umel&CarmflGeorL L emLILN6emeTeL 6

B: Arsenic

L jFeoflg
C: Dioxins
60)L_LLI & & 63T6r0
D: DDT
leelq (DDT)
41 The objectives of Environmental education are given below. Select the correct option.

a. To help in acquiring knowledge and variety of experience of the environment.

b. To develop attitudes and feelings of concern for the environment.

c. To provide an opportunity for the solutions of environmental problems.

d. To hide the basic understanding of structure, processes and problems of environment.
Options :

FHMIF G Hevalluller GBMEHSBIGT BCL Q&EMTH&E&LILL B eTerer. Fflwmer allpLliLSCHTalenars G5 HO &M &&Ha]| D
() &FHMIFG LRVl LHMIW oiMla] LnMHMID LILGCAIM SIILIAIKISG6T ] QLMIOISDHES 256560
(@) FHMFSGLP GMISS LOGTLILITETENLD LDMHMILD 2_600T 6 &6M6T U6TIH SIS 68 M6TER 60
(@) & MIF G060 LNTEFF 660 @65 G Hi6 SIMeuor 6(H 6UITUILIMLI QLM S5 60
(IF) & MHMIF G606t &L LemLiL], QF W6 WenME&ET nMmmILD LNgFFaeraer Lmlw ol Liflsenesd sOILILSI.
A®BLILSCH T GHET:
A: a,bandconly
a, b LOMMILD ¢ L (IO
B: b,candd only
b, c LDMMILD d L HLD
C: acanddonly
a, ¢ LDMMID d LD ()LD
D: a,b,candd
a, b, c LOMHMILD d LOL (HID
42 The state level planning and co-ordination of higher education is done through and UGC.

2 wij sevallufler mmlev Siemallevmenr S L AL 6V MM 6 (HHBIG) 606007 LIL| 24,5 UI6DI6U WHID W& epeuld
GLMQ & maTaTLILI () &) 60T 60T

A: Directrate of collegiate Education
SHanfle el @ UGBS0

B: Council of Higher Education
2 wWrsevel nermLd

C: Central Advisory Board of Education
SHW &H6Vall 9L CeUMTFMEITE & (LD

D: SCERT
6TV @ 91,719 SCERT
43 Given below are two statements.

Statement I : In 1917, the Government of India appointed the Calcutta University commission which is also known as Sadler commission.

Statement II : The Commission visited all university centres and after 17 months submitted its report on 13 volumes, giving a critical and comprehensive
survey of social problems.

In the light of the above statements choose the correct answer from the options given below.

GG @ Tetor(h) FoMMGHET Q& MT([H &S LILIL (H6T6TeoT.

Tl I: 1917-10 SL,600TI9.60, @ HH I T& HVHSET LIHENEVEHEHLNS S0 60T LS BWESSS). 918 FTlev] sidlaqesr
GTEUTRYLD SN SLILIGRMSI.

Fa Dl II: 51069607 DTSHSI LIGVSHE6VEHELNE eDLOIWEISGem6TWD LmFenaulll (), 17 IDMSHEISEHS G NnG 13
QaTGH S Fensll NFgaenergser Lmmlw ellinFgerid wmomib eflifleimer gy uilenel & s Wns: FuFlillsssl.
GLM & 60T Fa MG 6rfledT g LiLienLulev ECLp QaTHI& &L B 6Ter Qsfleysefledmhba Fiflwmer LG eneus
CaIHESHSHHLD.
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44

45

A: Both statement I and Statement II are true
FaDm! (i) DOHDID Fn DO (ii) @TesoTEILD &Fifl.
B : Both statement I and statement II are false
Fa DI (i) DO & DM (i) @TeoTGILD S
C: Statement I is true but statement II is false
Ga DD (i) F1f] SYEOTITEL En DO (i) Heu .
D: Statement I is false but statement II is true
Fa DO (i) H6ULD SEUTEV Fn DM (if) &Fifl.

Which of the following is not a democratic value ?
LI edreuBeuesTau MmN 6v 6T 360THITWIS DS LIL| {6V6V?

A Leadership
VNN G SI6ILD
B: Love for work
L1600t 85 8 TeuT 6071
C: Tolerance
FRILSH60T6nL0
D: Self-fulfilment
FHeoTe0tlemme
The first Indian education commission appointed in 1882 is also called as

1882 91D 3460071960 BIWIAGSLILIL L (NS560 @)HH IS 8606 &6m600T LD GTEOTMILD SEMPGESLILGRMSI.

A Kothari commission

Cansafl Gw
B : Hunter commission

QETITLT &
C: Mudaliar commission

W) GW

D : Radhakrishnan commission

TS & ([H6I.600TET & (WD

Case Study from Question No. 46 to Question No. 50

Passage

Papergrecycling is the journey of paper scrap, from being thrown away in the trash bin to bring recycled and turned into new paper, after being put
through different recycling processes. Paper recycling is an important part of sustainable living and paper is one of the most recycled materials in the
world. It helps reduce waste and conserve natural resources, reduce greenhouse gas emissions and saves energy.

Paper recycling is the process of collecting used paper products, such as newspapers, cardboard boxes and office paper and turning them into new
paper products. Most types of paper can be recycled. However, some types of paper, such as paper cups and tissues, cannot be recycled due to their
composition.

Thel[))rocess of paper scrap recycling involves several stem. The first step is collecting used paper products from homes and offices through a process of
segregation of waste. Once the paper products have been collected, they are sorted based on their type and quality. The sorted paper products are then
processed into pulp, which is the raw material used to make new paper products. The new paper products can be anything from cardboard boxes to
tissue paper to printer paper.

Paper recycling is important for several reasons, including reducing waste, conserving trees, saving energy and reducing greenhouse gas emissions.
Additionally, we should also reduce paper usage by opting for electronic billing, avoiding unnecessary printing and using both sides of the paper when
printing or writing. We can also buy paper products made from recycled paper to support the recycling industry. Finally, we should encourage others
to recycle paper and enjoy its benefits as well.

By participating in recycling programmes and making a conscious effort to recycle paper products, individuals can make a positive impact on the
environment and create a more sustainable future.

Passage

SRS DMIGPME TaTLS ST S VS FTLIL6T LIWerd, GLiemus Qs TLIguilé 5r&8 ermlwiu@ e e mHS!,
QeueuGau M LOMIGPMHT QFWAWMMEEFSHS 2 LGSSLILLL KNG, MI&FPNHS QFLWlLL® UHW STHSIMS
LLTHNUSTSLID. HTH S LD MIGFLPMHE 6T60TLISI [H1606V W ITET 6UMTLHE 68 UN 6T @ (WSS W LGS WMESLD, CLogIb STH WD
2 &L WG LMGFPHT QFLWLLGLWD QUIIGLEE6 @6eTMTGLD. @) Sl &6y &emeTs: (&6mM&&ea|ld @) WMens
CUETMEIGEMETLI LIMSISTHS LD 2 56 RMmSI, L&l ey 2 6heneus Gemms S SLMmmene CFLA&EER M.

SRS LDMIGPME TTLS QF LS G TETH 6T, LML QLILLLSET IDMHMID eIV STH G CLImerm
LWeTU@®SSLILULL MRS swrilliLseaer CF&flg S eaumenm LS W &ITEH SHISETTS LOMMHmILD

QEF W (PEMMWMGLD. G LI(HLDOLITEVITET &TE & MHEI&HmET LMIGPMHE QFWIWeTDd. @UBLILNID, ST &8 GHITLI60 LIS 6T
LM MILD § &8 EH6T CLITETM TFl6v 6U6M & LITET &ITEH S MEIS 66T 3| 6UM 6T &eVemeU &ITII6UOTLONS LOMIGLNMHE QFLWIwW
PIwmsl.

STEG VR T LLMISGOHE QFWE MM LIGU LI BlemeVsemeT 2 aTaTL &S WGl SV LG afGI&6T oM min

IV EMEI&6 e ([(BHS LWaTURSSLULLL sMTH G sWrfllysaner sifleyseaner L6 G Q& W6 enm epeuld
Ceafllugm@L. sMH S sWMHLULSET CFSH&HELILLLALET, 3{emel euMn6iT auens DM mILh &I7& S eor

91q 16 uN 6L auensLILB S S LILIG S TMmerT. euens&LILGSSULLL &TH S SWTHLL&ET LN6Terf salpms
LUsUUGSSLILG S eTmerT, @& UGS W TR swrilliLseaner wmilss LweTU @D VL@ LIMTHeTMEGLD. LS§w
&M1& WML &6T L6l QLILLY&ET (NG6V B& SMTH G uen T S|FHFLIQLTN STHSLD aUeNIT THIEUTS
GoueuoT(HILDITEOT TYILD @) (H&SH6VITLD.

STHS LLMI&HPHE HLl6ySHmeTs GemmE 6, L0 HEIGeM6TL LITSISHTS 6, SLMmenevd CFLEIG S oM mIb Lo af®
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aurmy 2 1S emeus &emmE g6V 2 6TerflLL LI6U & ITIJ6UT kI8 @5 &8 TS (&S WINMETsl. o () S6VMs, I aTaram FEamss
CaIHA SO LILSE epeu(ald, CeemeuwMm SHFFR B Gen6vs HeNTLILIG 6T epeupLd, HFFHILCUMSI S6V6vEI

W SILCUMS &TH S5 H 6T @) (LMD LIW 6L (H & SI6US 60T CLAGU(INLD STH S LIWETUTL 60L& &6mm& & Ceueuor(hLb.
LMISLHE ATt 15768 LMNGFPHT QFLWLLULL MRS5S GHE swrflssluulL sres
SWilliL&eneTwLd HITLD 6UMMEISEVITID. @ MIGWTS, STHSHSMS LDMIGFLPME QF W HMEUFTEHmET 2018 G605 Sl

S| UITHEMET|LD 3|5 60T [HEITE0LNGHMET IigulLIaN&s Q&Wiw Caueuor(ILD.

LMISGPOHE S LIS 6 LkGCsMHLIGET eneauold, HT&H S SWTflLIL &emeT LoMIGPMHE Q&6 M meor
(NEMEUTLILITET (LPWMHFem GLOoMG & TETEU S 60T CLOGV(LNLD, & 60T HLITE 6T & M MIF G LP6O16V &FITH &0 TET &HITH 5SS
gHLBSS) W &eaLD Bem6u W ITeT 6T H F&HTeVESMS 2 (HeUMTE S (LNLgU]LD.

46 What is the primary purpose of paper recycling ?
SRS LMIGFLPHAUINGT (PG 6TenLn GBS LD 6T60T60T?

A . To create new paper products at a lower cost
GBS QFevaley LHIW HTH S QLIMTIHL &HEMET 2_(1H6UTE &6V
B: To reduce waste and conserve natural resources
&6 56ME GMMS S @ UMNS QIETEIGEETL LITSISHTSHS6.
C: To replace non-recyclable materials in packaging
CLECHYIMIGR 6 LnMIGFLPMHEA Q&F I (LPIQUITS QLIMTIHL &HEM6T DTHmIeISI
D: To make paper products more colourful
&HTR G sWTlliL&emeT W& e|h 6165Teuor LOWILDTE LOTH M6V
47 Which of the following paper products cannot be recycled ?
Wereu@dd &MHs5s swmiliiLgserfle eaumenm LMIGMHS Q&ww WIQWImS ?

A: Cardboard boxes
I 6L QLI &6IT
B: Newspapers
QF IS S S MeiTE6iT
C: Officer paper
S|eVI6I6V8 GUILILIT
D : Paper cups
HTHG CHMLIEmLIGET

48 What is the first step in the paper recycling process ?
STHS MIGPHF QFWLMUNGT (LNGH6V LILY 6T6T6or?

A: Turning used paper into pulp
LWeTURSH W &HTH G505 FalpM& LOITMHMIGE6D
B: Sorting paper products based on quality
SIS 6T g LI U6l MRS SWMHLIL&meT auflen&LiL( &S5 60
C: Collecting used paper products through segregation
Lweru®sH W sTHS swmflliyseneT L1flgsev epevb &g 560
D : Manufacturing new paper products
UHW MRS QUTHL&E6T 2 MLGSH QFUIEHe6
49 How can individuals contribute to paper recycling efforts ?

SHTRS MIGFLPHR (WDWLMHF&EHEHEG HeolBLITHET eTeleumml LikIgGerga (g uLh?

A': By burning unused paper products
LWeTLRSSLILLTS STRS SWTLIL 866 6T ILIG60T eneuLd
B: By buying only brand new paper products
USs UHW &TH G sWmflliLgsener oL (HGLD 6T 615 60T eLp6uD
C: By avoiding unnecessary printing and using recycled paper
Gxemaubm SFFH B el fHH60 MDD LYSHPHE QFLWLILLL STHSHmMSL LILTUB SIS0
D: By using paper products instead of electronic alternatives
LA 63TEOTET LOTH MISHEHEE LIFVTS STH G & WML 66U LI LG S S161 86T eLneuLD
50 Which of the following is a benefit of paper recycling mentioned in the passage ?

usHUWIleL G LUl (HeTeT &THRS MG mHE UleT HeTenin LileTelheusTeumnilev 6Tl ?

A Tt eliminates the need for waste segregation
@ sl sleseamet LIILGHE&TEr GHamalanl HEHGH M

B: It prevents all types of wastes from entering landfills
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BB DTSS! 616D & WLITET SLdlaSHemeTwb BleuliLTLiL&erfle Bapalamnss SHhERmSI
C: Itreduces greenhouse gas emissions and saves energy

@& usawai® auru] 2 1heneals GmES SpHMmamas CFLl&EHMSI
D: It speeds up the decomposition process of paper

88 sMHRSSH 6 Flange| QFwawammaow SflsLLGSSH DS
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